MATH 3316
Fall 2018

Homework 1

Show all your work to receive full credit for a problem.
Clearly print your first and last names.

o Do Exercises: 1.62, 1.90, 1.108, 1.136, 1.138

To do Exercise 1.62, please use the solution to Exercise 1.31 provided below:

1.31. (a) Stemplot shown below; each number is rounded to the nearest 10, so 268 1s 2680. (b) The
distribution is somewhat right-skewed. (¢) There appears to be one small outlier at 2680. (d) The shape is
right-skewed, the center is around 3200, and the range is from 2680 to 3950.
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